

49)  $P(5, -1, 6)$

$$r = \begin{cases} x = 1 - 2t \\ y = -t \\ z = 5 + t \end{cases} \quad d(P, r) = \frac{|\overline{PP_r} \times \overline{v_r}|}{|\overline{v_r}|}$$

$$P_r = (1, 0, 5)$$

$$\overline{v_r} = (-2, -1, 1)$$

$$\overline{PP_r} = (1, 0, 5) - (5, -1, 6) = (-4, 1, -1)$$

$$\overline{PP_r} \times \overline{v_r} = \begin{vmatrix} \vec{i} & \vec{j} & \vec{k} \\ -4 & 1 & -1 \\ -2 & -1 & 1 \end{vmatrix} = (5, 6, 6)$$

$$|\overline{PP_r} \times \overline{v_r}| =$$

may 7-13:06

55)  $r = \begin{cases} x - y = -3 \\ x + z = 1 \end{cases} \quad \begin{matrix} x = \alpha \\ y = -3 + \alpha \\ z = 1 - \alpha \end{matrix}$


$$\Pi: x + y - 2z = 1$$

$$a) \begin{cases} x - y = -3 \\ x + z = 1 \\ x + y - 2z = 1 \end{cases} \Rightarrow S(0, 3, 1)$$

d)  $d(P, S)$

may 7-13:15

57)  $Q(2, -1, 0)$

$$P \quad r = \begin{cases} x = 3 - 2t \\ y = 2 + 3t \\ z = 4 \end{cases} \quad \overline{v_r} = (3, 2, 4)$$


$$\Pi \begin{cases} P = (2, 0, 4) \\ \vec{v}_1 = \overline{v_r} = (-2, 3, 0) \\ \vec{v}_2 = \overline{P_r P} = (2, 0, 4) - (3, 2, 4) = (-1, -2, 0) \end{cases}$$

$$\begin{vmatrix} x-2 & y & z-4 \\ -2 & 3 & 0 \\ -1 & -2 & 0 \end{vmatrix} = 0 \quad \boxed{z-4=0}$$

$$d(Q, \Pi) = d(2, -1, 0, z-4=0) = \frac{|0-4|}{\sqrt{0^2+0^2+1^2}} = 4$$

may 7-13:18

53)  $\Pi_1: x - 5y + 2z - 19 = 0$

$$\Pi_2 = 2x - 10y + 4z = 0$$

$$\frac{1}{2} = \frac{-5}{-10} = \frac{2}{4} \neq \frac{-19}{0}$$

$$\Pi_1: x - 5y + 2z - 19 = 0$$

$$\Pi_2 = x - 5y + 2z = 0$$

$$d(\Pi_1, \Pi_2) = \frac{|\vec{a}_1 - \vec{a}_2|}{\sqrt{a_1^2 + b_1^2 + c_1^2}} = \frac{|-19 - 0|}{\sqrt{1^2 + 25 + 4}} = \frac{19}{\sqrt{29}}$$

may 7-13:22